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MAT 212, Quiz #3, Spring 2016 Name

A

Instructions: Show all w
credit. Some questions
unless specifically asked

ork. Answers without work required to obt

a
may contain multiple parts: be sure to answ;
to estimate.

X1 +4-x2 = 11
+5x, =11 ¢

l 'k -32.

1. Use a matrix to

[3 4]

_"':r L Cv

row reduce the system { sol

IRl

.
(

i
2

[

PDE 2y" +y = 3t using an integi)a(tlmﬂg f!.\CtO :
Yir3y =3t M
e 1y ht ot
e Y ‘*‘ 2 & b s te.a
f(e"ryy =J34: Sl

Ye _._.j_} tz'hfau, %_[Zte/‘h.{'

/ ] = Yoo

Xyt 8%

X+ < (2
x,+lo:‘-

2. Solve the linear

l.
7

1S

the solution will not receive full
all of them. Give exact answers

o X1
ve for X = (x )

[

|
(&)

]

-3

ﬂ/
Lb b ‘If..'b-'_ C 5)

Y‘

3. Atank has pure water flowmg into it at 10 L/min. The contents of the tank are kept thoroughly

mixed, and the ¢
water. How muc

Eﬁvkiv\
Kate o

ntents flow out at 10 L/min. Initially, the tan
h salt will there be in the tank after 30 minut

contains 10 kg of salt in 100 L of

s7?

&Co)r—tok.g
ﬁt Cuk ;- Packs p

an £ bl

C“r'at




ay L
4. For the ODE 5

sure to show ex

VAR Q—vt‘

,.)i = (14 (DG
o ™) (2y

-
—

1+t2
[ 3y-y¥
plicitly that you check both conditions.)

determine where a solution exists.

&

Sketch the region in the plane. (Be

M%wéduﬁuu

e

espt

& b S &
yes Y (3-y) 2o 3\/—-\/‘—.:-0
y=o,y=3 Aened for sttt
.- ——t Tl = = N2

NERR)

-ty (5-29)
3)

(3y~y*.

(B

—

3L Wuhé—wg ot h{’onY"?’

Hheoe >
vaduso.




